1 0.68__ 0.53
2. 05 0.67
3. 3.0_0.11

4. 0.43__ 0.002
5. 814 0.069
6. 0.02__ 0.009
7. 0.042__ 0.549
8. 92 815

9. 2.7 0.055

10. 0561  0.422

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Name:

Date:

Teacher:

Class:

Comparing Decimals 603

What do you get when you put a turtle and a helicopter
together? A Shellacopter.

Use < (less than), > (Greater than) or = (equals) signs

to make each statement TRUE.

Example: 10.2 2.1 10.2>2.1

0.334__ 0.002
03 574
040 7.6
0.05 1.0
0.6 0.03
0.308__ 0.010
0.016  0.05
0.01__ 0.006
0.007__ 0.15
0.005_ 0.01

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

03 93
0.004 8.7
3.8 86
0.009 _ 0.007
28.3__ 0.009
0.10__ 0.06
0.043 _ 0.065
3.08__ 0.02
6.5 156
0.092  0.003

© Facilitators Ferriswheel

Score:



1. 0.68 > 0.53
2. 0.5 < 0.67
3. 3.0 > 0.11
4. 0.43 > 0.002
5. 81.4 > 0.069
6. 0.02 > 0.009
7. 0.042 < 0.549
8. 9.2 < 815
9. 2.7 > 0.055

10. 0,561 > 0.422

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answer Key

Date:

Teacher:

Class:

Comparing Decimals 603

What do you get when you put a turtle and a helicopter
together? A Shellacopter.

Use < (less than), > (Greater than) or = (equals) signs

to make each statement TRUE.

Example: 10.2 2.1 10.2>2.1

0.334 > 0.002
0.3 < 57.4
0.40 < 7.6
0.05 < 1.0
0.6 > 0.03
0.308 > 0.010
0.016 < 0.05
0.01 > 0.006
0.007 < 0.15

0.005 < 0.01

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

0.3 <93
0.004 < 8.7
3.8 < 86
0.009 > 0.007
28.3 > 0.009
0.10 > 0.06
0.043 < 0.065
3.08 > 0.02

6.5 > 1.56

0.092 > 0.003

© Facilitators Ferriswheel

Score:



